-3x + 16



ol of

S

y=-9x+6 2y =3ax—b ol Tf

A 2

Siks

M=z 4

o
He

@ %4



Olmx+ny=-8L W, m+n 9

A

d

]

z
S|

A

i

25

= 2 (0, —4), (2, 5)
2 Foto=t

s

3.



4. 58 15°CH 27t SVIESE B3 XAt HEAE #A &
whofl Yoy 38 6°CH &7} Yzt 20°C 2] B2 80°C
7HA] Folthrt wof W#Eot 40°C 2 vrEaH A= Al7H2?

O 308 @ 355 B 408 @ 458 ® 508



lem A Zropzlth
EolH 4 Fujrt

LOT
el

LOT
TH

;OT
T

__oT
il

__OT
]



of dzlHo]E7} 20

o 83 =
| 0“;1431;1111517} 0] 32m ¢l

A7F?

=0]7} 80m ¢l 20
e

z

<
T

LOT
N

LOT
N

LOT
N

__OT
N

__OT
N



7. Qs

= =

O~

T
y = —bx—a 7} AH= ALERO] A AR, A dAFEW, A AR
Olet T S, 1 d + e o FE Tkl

Fy=ax+b o x AW 4 0], y WO -2 U o, WA

B



N
Njo

)

o

ol



T2 19 9] 2AHZ ABCD oA AB = 3,
AD =40]1, # P7} DE &%ste] C, B, A
A2 A7 A A AYE
x, AADP 9] Ho]& ygt st yE x & Ao
2 Uetdo] I #A A O nE HEYH
ol a2 o, o] Zgfmet xFHo 2 FeAl
L9 ylo]& Hotofet.

R
=%




